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22)

(23)

24)

(26)

27)

(28)
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(30)

TR 377 I o HROT 3TATTHA H SEerE fopaqn S & 1 foreqor 35 19 73 o5 51261 =1
YT AT S

(A) Qe (e 5h (B) ErIfSTe S

(OEIREREC (D) 3o e

e T T G172 THeh! A1 e IHh! &7 LA IET? 39 a1l o fa=aR framn & fohe
ST F WY IS AR ?

(A) A 3T (B) I Wiftd 1 32¥4

(C) Ui S 1 358%™ (D) T & THI & HGTAN h Iga3d

I, IR, T, 1R Traier weft fafyaa 2 o g faemt & -9 & g 7
ST?

(A) SFo=TRES (B) afro=nfiss

(C) e (D) ST

1/ § Q-1 S A ST e & foe e @ T2 g g?
(A) A& (B) atem

(C) T i ATeAH (D) ST

JrezrE wishan H wAifed 911 T&i § -9 TE g el § 2

(A) IRY (B) aRomd

(C) fshar (D) TR

34 foar g =l forg geR ot R 82

(A) TR foran (B) =aferdea | foran

(C) W-&fa | fir=ra (D) TR f=Ta
STETT-3TeT e HHih § 71 § | forsen! THe 81 81 52

(A) 1.Q. (SfgHTI) (B) S.Q. (smeaferes IfgHamieh)
(C) R.Q. (enfifer gfgmmien) (D) E.Q. (wiafire gigwmis)
e T B fraA et Afyyela i st @Al off?

(A) TR HE=

(C) | (D)=

fed B TeA aTell shel, S, GeorTcHeRal SiHl Sifed & A9 & e i wam &1 3w
fr S 82

(A) TG A9ES (B) 3Tl wam

(C) T Wit (D) TR T

TiEe B 2N aTel 919 TR # STalishansi # (e 9HEY 81 sldl 8 2
(A) There - foeneff seeRr (B) Toemefl - St SFaeR
(C) Tt - grit =9aeR (D) faeneft - faeneft =@=r

ENGLISH (A) (5/24)



N

SRATEHATT AT H
(1) I ®Y G TGN S vl geAad feafd & kL ﬁﬁ?wqwq

e TET §?
(A) HeHH S
(C) g Dy=eg
(32)  Teien & T A B (Test) ¥ & #H-3 a1 &2
(A) fefa (B) Hiftash
(C) T (D) TsraTes
(33) TR T (Spread Sheet) T4 fRw 1w 3 & g ey I EE @2
(A) TR TR (B) HEEIHITR W Wig<
(C) TEHTR 7 (D) T
(34) ‘Waﬂxaéﬁn’ﬁmﬁrmaﬁﬁmﬁmwﬁﬂé%?
(A) T i (B) A 14TE wg
(C) TRTM ey (D) . Fomfi
(35) “ﬁmmmm,mmm%fmaﬂzmmﬁﬁﬁm%w
(A) TRTeHT Mgy (B) =1y Tt
(C) 4t srtfo (D) @t fadsre
(36) ﬁﬁﬁqmﬁﬁﬁq—mﬁmaﬁ@émﬁqmmﬁfﬁmfﬁaﬁ@
(A) 39T 1 g (B) wafa =1 fag i
(C) =M =1 fagiq D)\ =1 fagig
(37) ?awmmmqmm)mamaﬁ%ﬁmﬁ%ﬁq%mw%?
(A) 1599 3R 39 S0 ¥ qsft (B) 1594 § 55 anf g
(€) 699X 14 99 g5 (D) 21 99 9 65 7 g
(38)  One Nation, One Digjta] Platform % &9 % 37 5y ST E?
(A)PMeVIDYA (B) BISAG-N
(C) DIKSHA (D) Vande Gujarat Channe]
(39) Wﬁmﬁm@ﬁrmﬁmmmﬁmmﬁ oft?
(A) 3. T, gy (B) TEittrey iy
(C) TRTeHT Titfsft (D) W& arfye
(40) ﬁmm%mﬁﬁmmméﬁﬁmmmﬁ off?
(A) TR Higd (B) 9 ®efee
(C) fom fyams; (D) 39 Uiy
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(45)
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(48)

(49)

STe % W1 S FAATTA H1 S i ¥ wgel # 19 € wH-wh S w2
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(C) 3TeA | U IRTEA # | gudt uftfeorfe & i am ward

(D) e o fere wfa mavas § |
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(A) T TR (B) SHt R
(C) s (D) TGS

‘14 QAL 5591 91t ) R &Ehe R B2 ' - 39 99 w61 SR S & AT s 9 @
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(A) T (B) foreim
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(C) 389 Faa uFmvE & B )
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(A) =EERaR (B) Wplaeraig

(©) g (D) HE=TaTg
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(A) 400 (B) 410 (C) 420 (D) 430
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(A) EJKNEGTP (B) EGKNFITP
(C) EJKNFGTO (D) EJKNFTGP
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(61) T Tl F *123° ST “bright little boy’ 3 145> 2397 “tall big boy’ 35T 1z ‘637" ertg
‘beautiful little flower” T &g ‘bright’ o TeTT &H-41 G T2
(A)1 (B)2
©3 (D) 4

(62) qﬁ'+3wf'v[x,><am—,+am+afn_aafq+%mﬁnmmﬁ1175—25+5+20x3+ 10
1 R 2 < 1§ | HE- den e

(A)77 (B) 160
(C)20 (D)2370
(63) STHAH "2 % I R A4 fasheq w6 Hifqw?
20160 4
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480 8
% | 1
(A) 860 (B) 1140
(C) 2880 (D) 3240

(64) < Apia H e o €2

— I~

(A) 15 (B) 16
©) 17 (D) 18

(65) 3:40 <15 Taf7e & e 3iR =S & e & =9 § =-d SIv fha" 731 1 SI?
(A) 140 (B) 150
(C) 130 (D) 120

(66) TG SISl YgaT-g |
(A)TET - g4 (B) o9 - Tl
(C) et - at (D) TEER - T

(67) TEU T wI=g ! Femerdi (& 31&R) & A FTHR Hafed i |
(1) INTERANAL (2) INSECT (3) INCOME (4) INTERN (5) INSIDE

(A)3,2,5,4,1 (B)3,4,5,2,1
(€)4,5,1,3,2 (D)3,1,2,4,5

(68) T Y o o1 Yger for Woar &, 1 39 94 | foha Waar g2
(A) 50 (B) 51
(C) 52 (D) 53
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71)
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(73)

(74)

(75)

(76)
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(79)

i 1 D qe er e e 30 fem 2y X
e 1 50 fopaf, wreman ¥ | grl U Ty R R,
Ok e ot @ g foen W 50 fep. ), e 19w | Y RN

e faen 3 e 10 for ol st ¥ 1 aw Wiy @ feran o g ﬁ“mﬂ
i (B) 50 fes. L.

(A) 20 T, S

(©) 100 fewY, (D) 60 feR. 1.

T sefar s
A B C y

(A A (B)B ©)C D)D

.................. UEHAL UL

(A) 21y B)»1[Ra (C) 21+id) (D) duy,

SR TETE | R sRU WA Gelea .

(A) sy (B) seuqa (GRETCR (D) Ui 2R

PR el 0 Gy sy o OEU.. - sl W12 U]

(A) sdlR (B) s:{[ (C) e (D) A

AF AL [Fel el srei@vin 2] Sldl, aeuder SR D) LS AL QL. 21 s, UETRL TN

(A) get (B) 34508 (C) &154 (D) AR

VL2l A gl 58 6 ?

(A)42e (B) €531 (C) 5311 (D) sfe

R’ goe-l Rzgil yoe Uy ?

(A) M (B)qaq (Ol (D) e

AUl 20081 1AL Qg Dy Risey e, B ?

(A) viloeL - 918, (B) 2124l - [acteunt (¢ PLARY - ctu Ry
el AURA QAL 12 g1+ Yl g g RUUelld, 33 Gl vy
(A) eoll (1B) 251y (C) 351
([A1P1&LAL BRI U0y - ga) Gy ad ausy s @y 7

(A) éla ! ed [FRid yS

(B) Matu S [Qenel (0 yonur, 2139 40§ {0 WAL Al Geysi) HSLeSA el ug )
(C) " o2 : H1RL eviil 2 oy «ef]

D) ..... ol M1 g2t 69,
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(80) 266 1t At 2Asiell geel-t viidl s g1y ddl Risey s @ ?
(A) 8L - 8L, EIRS (B) 52 - s, [vi2
(C) sid - 1+, 25 (D) 52 - (321, ¥2
81)  uha A B 2@ W08l BRI WHloL uu) Gy dg awsd 546 ?
(A) N 2L Ut 3 s1a iz Yl (B) 514 AUUHR &AL o % 2490, 9.
(C) A% 9 Al AR AU S AU B, (D) £33 viasyial]l unalsa wel eit 539G ASA.

(82) ‘el yoe-l Qe g 2wy ?

(A) &+ oy (B) 2 + 312y
(C) 2 + vy (D) 2<ll + a1
(83) 0l alsl ‘sHBL s’ sy ?
(A) DL AHUHL ALSL ZOUR ML (B) A8 Y214 MU WHLIRIL
(C) ARIR AL 21 1B A% 21Uy B, (D) 21205 58 olledl L Sl

(84)  “e9o{l UR AR, Avicllril GUId WM3WR $1291d. lagil.” - Al Wil 524 woe U’
BaifQduai-dl sal usiz e ?

(A) AR By (B) Axuals BuQdme

() ARcuus Bulaaws (D) 2 Buifague
(85) IR Al ALl AL 2N % 2 4. - 2SR Blorvilal.

(A) A[55 ANA SR (B) 2A[Qadl(Ea rei s

(C) 3Us AEsR (D) GuaL AR

(86) Mahesh was too smart. (Remove ‘too” without changing the meaning.)
(A) Mahesh was not smart at all.
(B) Mahesh was smart more than required.

(C) Mahesh was foolish.
(D) I was doubtful whether Mahesh was smart or not.

6.7 INS Arihantis .......ceevereeee Indian Naval ship. (Fill in the blanks)
(A) The & an (B) An & an
(©O)A&an (D) The & the
(88) Moststudents have brought their homework. ........cccoevvnve. of them have not completed it yet.
(A)None (B) Few
(C) Each (D) Alittle
(89) < ML Lol SULRAL. - ¥l Al A5 2i39 eyMid g 2 ?
(A) I cut my hair. (B) I clipped my hair.
(C) I got my hair cut. (D) I'had anice hair cut.
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e : o ofword : ¢ tom’. ,
(90)  Give the nearest meaning of w orfl ‘Phantom . () onpoiea l (D) tangible
(A) existent (B) imaginary
(91)  Givethe verb form of ‘little’. ol (D) bilittle
(A)alittle (B) unlittle (
(92)  Change the voice : “What caused COVID-19 77
used by COVID-19 2
(A) What was COVID-19 caused by ? e caVID 19 was caused ?
(C) By what is COVID-19 caused ? (D) By what CO ’
- : lined word ; «
(93)  Selectthe word or phrase which is closest to the opposite in meaning of the underlin rd: "Rahy
will never accept your request.”
(A) turn over (B) turn down (C) turn up (D) reject
(94) Addasuitable question tag : Radha, one of my neighbours slipped off a staircase. ............. 7
(A) did she (B) does she (C) doesn’t she (D) didn’t she
(95)  Fill inthe blanks with appropriate set of prepositions : Nidhi travelled ............... hermotherall...............
the world when she was 17 years old.
(A) by, above (B) for, around (C) with, around (D) with, over
(96)  Tum this sentence into English : “% 42l § d=i i 2s¢fl Qlatell A sl sl ”
(A) Icould still saw her standing there alone. (B) I could still see her stood there alone.
(C) I could still see her standing there alone. (D) I cansstill see her standing there alone.
(97)  Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation
..................... May 2023. They..................... to Manali for a week.
(A) for, had gone (B) since, had gone (C) for, have gone (D) since, have gone
(98) Mantra got the first prize last week. Find out the correct option to get the underlined answer,
(A) Which prize did Mantra get last week ?
(B) When did Mantra get the first prize ?
(C) Which prize Mantra got last week ?
(D) Where did Mantra get the first prize ?
(99) Ravi................. in this company for five years. Find out correct form of verb from the options.
(A) works (B) is working
(C) has been working (D) have worked
(100) Find out the correct spelling from the options.
(A) Spactacular (B) Spectacular
(C) Spactaculor (D) Specteculor
ENGLISH (A) (12/24)



(101) Mr. Dave has been working here since 2015. Identify the function used.

(A) Specifying time (B) Specifying location

(C) Duration of time (D) Pointof time
(102) Select the word having the nearest meaning for : Mob.

(A) Unit (B) Crowd

(C) Meeting (D) Group

(103) Father told the son that he would get used to the life in hostel. He also advised him not to be misled by
the freedom that one gets were. Replace the underlined words selecting the most appropriate option.
(A) get acquainted with, carried off by (B) get known to, carried towards
(C) get habituated to, carried away by (D) get knowledged about, carried into

(104) Unscramble the jumbled up parts to make a meaningful sentence.
the best student / Chaitali/ of the year prize / when she was awarded / felt very happy

1 2 3 4 5
(A)25413 (B) 41325
(C) 21543 (D) 12543
(105) Find out the nearest meaning : Haze.
(A) Near (B) Fog
(C) Gaze (D) Gain
(106) Find out the incorrect list of verb forms.
(A) Steal stole stolen (B)Slide slid  sliden
(C) Strive strove striven (D) Speak spoke spoken
(107) .vitennense.s at the party, we saw Ramesh standing alone. Fill in the blank with proper word /
words
(A) Arrived (B) We arrived
(C)Amiving (D) We were arriving
(108) Identify the figure of speech. She was shivering with shock.
(A) Repetition (B) Metaphor
(C) Irony (D)Alliteration
(109) Find out incorrect forms of degree.
(A)Far Farther Farthest (B) Fore Former Foremest
(C) Late Later Latest (D)In Inner Innermost

(110) Number the following sentences to show the order in which the events occurred in the
lesson 'Mohan and his Veena'.
1. Mohan was depressed and cried.

2. He was attracted to guitar.
3 He decided to work hard and make the instrument his face.

4. He wasnot appreciated well ina family concert.

(A)3142 (B)1234
(C)1342 (D)1432
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(111)

Match Awith B B

(112)

(113)

(114)

(115)

(116)

(117)

(118)

~ Squadron )
Eildings forsoldiersto live in W
A unit of an air force Bm
An instrument for measuring angles. I —
Aninstrument containing a pointer which shows the direction Protractors
(A)1:d 2;a3;b 4;c¢ (B)1a 3b gz 33
O 1l;c 2:a 3;d 4:b D) 1;b & %5 )

This alluring place is known as the Valley of flowers. Choose the nearest meaning for
underlined word. '

(A) well - known (B)attractive

(C) beautiful (D) wonderful

Choose the correct conditional sentence.

(A) Unless we do not brush our teeth regularly, they will grow weak.
(B) If we brush our teeth regularly, they will grow weak.

(C) Unless we brush our teeth regularly, they will not grow weak.
(D) Unless we brush our teeth regularly, they will grow weak.

Heisa philanthropic person. Select a similar word for the underlined word.
(A)Kind (B) Cruel

(C) Greedy (D) Sweet

My father takes tea five times ina day. Which question is suitable to getanswer forthe
underlined part ?

(A) How much does your father take teain a day ?

(B) How often does your father take teain a day ?

(C) How many times does your father takes teainaday ?

(D) How does your father take tea in a day ?

Find out the incorrect part. | hear some funny mistakes, listen to the radio.

1 2 3 4
(A1 B)2
©)3 (D)4

(B) The boy exclaimed with joy that team had won the match,
(C) The boy exclaimed with Joy that their team won the match_
(D) The boy exclaimed with Joy that their team had won the match.

Select the nearest meaning. Be the best of whatever you are.
(A) We should do our work in the best possible manner

(B) Put in your best, don't feel ashamed even j
(C) We should be the best amongst al].

(D) We should try to become the biggest in size.

fyouarea sma Person. Just do the best.
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(119) Choose appropriate option to complete the extract.
The Vedas singabout ............ of man and nature. The idea expressed in ancient text

has.............. value. We have always tried for preservationand ............... of all species
including mankind on this earth.

(A) oneness, prosperity, universal (B) oneness, universal, prosperity

(C) prosperity, oneness, universal (D) prosperity, universal, oneness

(120) TheArjunAward................ to Dhoni Last year. Fill in the blank with Proper verb.
(A) was given (B) has given (C) had given (D)isgiven

(121) Complete the sentence with the function of language '"Manner of Action'. Hitesh bats as

...................

(A) he was taught (B) if he were Dhoni
(C) he is taught (D) he is Dhoni
(122) Tamateacher, .......ccoevvvenennnnnne. ? Put proper question tag.
(A)amn'tl ? (B)aren't1? (C)don't1? (D) wasn't1?
(123) Choose the correct spelling.
(A) Incandascent (B)Incedascent
(C) Incandescant (D) Incandescent
(124) The Science of fireworksiscalled ...........................
(A) Pyromanics (B)Pyrogenics
(C) Pyroscience (D) Pyrotechnics
(125) Darshan and Bhairavi help each other. What kind of pronoun the underlined word is ?
(A) Reciprocal (B) Distributive
(C)Reflexive (D) Relative
(126) Theperson.............. you met at the bus stop yesterday is my uncle. Put proper
connector.
(A) who (B) whose (C) whom (D) when
(127) One morning .............. the giant was .................. in a bed, he heard some .................
music.
Complete the paragraph with proper words. .
(A) where, living, loving (B) when, l)flng, lovely
(C) who, laying, loving (D) when, lie, lovely
(128) Wemust.......oeeeenensens practice our thoughts. Put proper verb preposition.
(A) puton (B) putinto (C)putin (D) put at
(129) Match'A with'B".
A B
That has little value Drowsy
Extremely emotional wave audible
feeling sleepy frenzy
that can be heard easily trifle
A)1-d, 2- 4-b (B)l-b, 2-a, 3-c, 4-d

Z C, 3-&,
(C)1-c, 2-d, 3-b, 4-a (D)l -a 2-d, 3-b, 4-c

>
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. i s . sentence.
¢ hlessinges wishesiscalled .....c.coonn
(130) A sentence that expresses blessings, good

. Exclamatory
() Imperative ﬁg; Optative
(C) Declamtive
(131) Whatdoes 'tuneup' mean ? ) 2 (B) exercising
A) prepare vour mind and body for atask ) €XC p i
e (D) repairing an instrument

(C) prepare your body for yoga

(132) Select the title of the read related with the sentence : o
If she had not supported and encouraged me to learn, I would not have enjoyed the

beauty of the world.
(A) our Feathered Friends (B)I onfe you, Teacher
(C) Kachand Devayani (D) playing with fire

(133) Select the title of the read related with the sentence : All her parts should be movable

and replaceable too.
(A)Awonderful creation (B) Tune up o Teens
(©)Aninterview with Arun Krishnamurthy (D)our Feathered Friends

‘s

(134) Select the correct degree of comparison.
(A) Maheshis taller than Haresh.
(B) The Ganga is longest river in India.
(C) Ahmedabad is one of the hottest city in Gujarat.
(D) Kavitais not so short as Meena.

(133) Find out how many mistakes are there in the following sentence. Our neighbour boy has
gone to pictures but we didn't want our to go.

A) 1 B) 2
©) 3 D) 4
(136) Heisafool indeed. Whatis the function of the underlined word?
(A)Adverb (B) Adjective
(C)Noun (D) Pronoun
(137) Select an option different from others,
(A) to mock (B) to huff
(C) to poke (D)toblub
(138) Fillinthe blanks to complete the paragraph.
Akbar, ............... was with Tansen, was dressed not as an Emperor............. as an ordi-
naryman, ............. Only wish was to hear santHaridas,
(A) who, or, whom (B) Which, but, whose
(C) Who, but, whose (D)who, or, whose
(139) Ifyouareguilty,you............. anytime. Fill in the blank with appropriate verb form.
(A)are trapped (B) will trap
(C) have been trapped (D) will be trapped
(140) You need a walking stick to cross this road. Identify the function of the underlined word
(A) Present participle (B) Gerund .
(C) Perfect participle (D)Adverb
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(141)

(142)

She goes .................... school and met his friend on the way. Put proper preposition.
(A)on (B) to
(C) by (D) towards

Change into passive : His colleagues started to respect Tim
(A) Tim was started to respect by his colleagues :
(B) Tim started to be respected by his colleagueé

(C) Tim was started to be respected by his collea;gues
(D)Tim started to be respect by his colleagues. '

(143) Select the correct sentence.
(A) They let me borrow. their car while they were on holiday.
(B) They let me borrowing their car while they were on holiday.
(C) They let me to borrow their car while they were on holiday.
(D) They let me borrowed their car while they were on holiday.
(144) Find out the sentence with correct punctuations.
(A) The angel sa.id, "A m.ighty impossible task, I suppose. Six pair of hands ? No way "
(B) The angel sa%d, ::A nghty :1mpossible task I suppose. Six pair of hands ? No way !"
(C) The angel sal.d, A rm.ghty 1.mpossible task, I suppose, six pair of hands, No way !"
(D) The angel said, "A mighty impossible task I suppose, six pair of hands ! no way ?
(145) Weshallact............... your advice. Select an appropriate phrase preposition.
(A) in favour of (B) on account of
(C) inaccordance with (D) withregard to
(146) Selecta word which is not a part of the group.
(A) savagely (B) fearlessly
(C) brutally (D) cruelly
(147) Carvemynichemeans..........
(A) I will make my own place in this world. (B) I will shape myself
(C) I will deal with my feelings (D) I am on my search for what I like.
(148) Itwilltake............... time, but I am sure you will learn the rules of cricket eventually.
(A) few (B)alittle
(C)afew (D) little
(149) At the meeting, the ministers agreed .....ooooeeeenieninann new measures to combat terrorism.
Put proper word to fill inthe blank. :
(A) about (B) with
(C) at (D) on
(150) Thatsurelycan'tbe.............-. Jenny Watson we knew in Zimbabwe. Put proper article. If
not needed then select zero article. ®)
a
Elé; ;}Ille (D) zero article
(151) Ifyoutry to appear better or bigger than actually what you are thenyouare .................
(A) snobbish (Bg g
(C) inspired @
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(152)

(153)

(154)

(155)

(156)

(157)

(158)

(159)

(160)

(161)

(162)

Find out which one is correct.

(A) Talking to Kahan is worth. e

(B) This instrument isn't worth to be rq’m n.h ShE
(C) They have ordered a million rupee's wo

(D) Is it visiting Nainital worth ?

is birthday". Find out the
Kalam said, "l was thinking of getting my father one for his birthday
Indirect Speech for this sentence, il s : for his birthday,
(A) Kalam said that he had been thinking ofgctt‘mg his fathc;on}; Sgrinhday. .
(B) Kalam said that he was thinking of getting h{S father one for for his birthday,
(C) Kalam said that he had been thinking of gelting my father onelr ik birthday‘
(D) Kalam said that e had been thinking of getting his father one fo Y '

Helooksforward ... from his friend soon. '

(A) hearing (B) to hearing

(C) hear (D) to hear

& his work by tomorrow, _

(A) may finished (B) may has finished
(C) may have finjsheq (D) may have finish
The building of her QLICETS ol B ot el e the road.
(A)on (B)across

(C) through (D)along

She has told him that time and time 4 ain. Replace the underlined words with correct
option.

(A) every time she sees him (B) fortwo months
(C) since two years (D) since every year
What time is j¢ Herewhatis...............

(A) pronoun (B) noun

(O)relative noun (D) determiner

Which part talks aboyt the condition jp condit
(A) part with an article
(C) the part which starts withif not

ional Sentences ?

(B) part Wwith hope

(D) the part with question mark
Who wrote the poem "The Road not Takcn"?
(A) Charles Pole

(B) Robert Frost
(C) Navin Paul

(D)Rzuncshnnth Lahori

What should one supposed to do when something js regardeq ag "auspicious”‘?
(A)Banit (B) Avoid it

(C) Welcome it (D) Say goog bye it
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(163)

(164)

(165)

(166)

(167)

(168)

(169)

(170)

(171)

(172)

(173)

(174)

The wind can be able to blew
Gonstoreplacethe tnderl: Outweak fires. Select corre .
options place the underlined worg rect word from the following

(A)Blown

(C) Blowing (B)Blowed
: (D)Blow
Write antonym of the word 'deplorap|e’
(A) the Happy gu
(C) the Goolzl - (B) the Wretched
(D) the hopeful

..................... for two days, sh
s ewasd ~
answer from the following, esperate to get to the bathroom. Select correct

(A) Had bathed (B) Having been bathed
C) Havi ¢ aving been bathe
© ing not been bathed (D) Having not bathed
Select the meaning of the word " issive" from the following options.
(A) Short poem
Cval ficiall (B) Long book
(C)along official letter (D) ashort unofficial letter
Select the correct word which meansso ethin is near or closer.
(A) hpnﬁr}nent (B)Immenent
(C) Simminent (D) Imminent
Wch prefix can be used to create opposite word rational ?
(A)im- (B)ir- (©)il- (D)un-
Write the comparative degree form of the adjective 'uncanny'.
(A) more uncanny (B) most uncanny
(C) uncannier (D) not uncanny
The lesson "The Bond of Love" is about which animal 7
(A) slothdog (B) sloth bear
(C) sloth cat (D) sloth cow
On which genre is the lesson of Nelson Mandela titled as "Long walk to Freedom"based
on?
(A) ANovel (B) A Biography
(C) An Autobiography (D) A Poem
The subjugate of the people requires a long process of colonization. Change the
underlined word with correct option.
(A) Subjugated (B) Subj.ugatation
(C) Subjugation (D) Subjugates
The atmosphere gets somber as the sky gets black. Select the correct option for the
underlined word.
(A) Full of black birds (B) Full of black planes
(C) Full of dark cloud (D) Full of dark horses
Don't let her fly into rage as she knows nothing about this mess. Select the correct option
for the underlined words.
(A) Be successful (B) Be happy
(C) Become dull (D) To lose one's temper
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- . d "stay in" from the given options.
(175) Identify the category of the word "stay in" fror ( é;) Action verb

(A) Compound noun (D) Phrasal verb

(C) Non - action verb

) . Select :
(176) Ttis that he dislikes coffee since he goes fora cup of tea correct OPtion

.................

to fill the blank. ket

(A) not proper (B) Obw.ous y

(C) improper (D)obvious
(177) Which components of grammar create a verb - "undergo"?

(A) Verb and preposition (B)Verb and noun

(C) Verb and verb (D) Verb and pronoun
(178) What does tales of valor generally suggest ?

(A) Astory of bravery and courage (B) A story of parenthood

(C)Astory of motherhood (D) A story of family - line
(179) What does "Collocation of a word" stand for ?

(A) The company it keeps (B) The best company

(C) The wise company (D) The bad company
(180) Thereare.. . speech sounds in English,

(A)42 (B) 26

()44 (D)24
A8) oo isthe smallest meaningful unitin g language.

(A) Sentence (B) word

C) Phoneme

( (D)Morpheme
(182) .o Lesson plan also provides a chance to re-teach.

(A) Bridge (B) Micro

© Stray (D) Unit

(183) Theteacheris justa

................. Who manages the envj i i i
help the students become autonomoyg learners, e S e
(A) Facilitator (B) Instructor
(C) Guide D) Philosopher
C184). ikl ik 1s concerned
i ed with the theory of the nature of language anqg language
(A) Method (B) Technique
(C)Approach (D) Procedure
(185) The................ method describes 5 person who cap
easily and talk fluently about any situation in ejther the mothJelrligi frc;m iﬁe anguageto ST
language with equal ease. e et
(A) bilingual _ (B) eclectic
(C) grammar translation (D) situationa]
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(189)

(189)

(190)

(191)

(192)

(193)

(194)

(195)

ENGLISH (A)

approach refers to a teachine «i
any one particular method but inc| l? 5 te".Ch‘"g situation in which the teacher does notuse
(A) Direct udes a mixture of different methods to suit his class.
(C) Communicative EB) Eclectic

D) Situational

...................... method of teachine i . .
effective and enriching. caching is the practical solution of making teaching of g ammar
(A) Grammar - translation
io-li B) Structural
C)Audio - lingual (
© = (D) Inductive - Deductive

stofthee i : e o
. xams in Indian universities, schools and colleges ask students to write 3

paragraph or a long essay on a given topic. This is an example of ..........coeee--- writing.

(A) controlled (B) parallel

(Codxee (D) communicative

Which one of the followings is not a part of Dr. B. S. Bloom's taxonomy?

(A) Psychomotor Domain (B) Affective Domain

(C) Cognitive Domain (D) Instructive Domain
A test is actually a passage in which some words have been deleted and

students are required to fill up these gaps with appropriate words.
(B) open - ended

(A) guided

(C)cloze (D) dictation

.................... is the technique used by a teacher to get learners to produce speech or
writing.

(A) Elicitation (B) Discrimination

(C) Elimination (D) Repetition

test determines what errors are occurring and what corrective measures should be

...........

needed to rectify those errors.

(A) Aptitude (B) Proficiency

(C) Achievement (D) Diagnostic
What can be the first stage of reading skill called ?

(A) Secondary level (B) Preparatory level
(C) Advanced level (D) Metalevel

During situational conversation, what is the opportunity for the learners ?

(A) They become happy and joyful
(B) They become mute for nothing. .
(C) They begin to think ona particular idea actively

(D) They look outside and laugh.
What is the essential aspect in terms of teaching poetry in English ?
(A) Learners become able to learn and recite poen.

(B) Learners write a fictional work.
(C) Learners can get rid of typing.
(D) Learners write a former letter.
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- ?
(196) What cannot be improved by Grammar translation method °

¥ Vocabul

(A) Structure of writing ((g; Fﬁf; c‘;my

(C) Floral writing
(197) How can one learn language in terms of audiolingual m_ethod ?

(A) Descriptively (B) Finally i

(C) Contextually (D) through translation
(198)  Whatis the basis of phonetic grouping in terms of gradation of structure? ?

(A) Sound (B) marks of Punctuation

(C) Guidance (D)Goals

(199) How does semantic sequencing take place ?

(A) Depending on their audio

(B) Depending on their meaning
(6] Depending on voice - over

(D) Depending on views
(200) Where doeg the root lie of 'whole' language ?
(A) Reader - friendly work (B) Writer - friendly work
(C)Holism (D) Structural view
'\ X
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